EIZATQrIKEZ EZETAZEIZ I’ TYMNAZIOY - MAIOZ 2021
AITAIKH TAQZzZA

Circle the letter of the correct answer among the four choices given. There is only
one correct answer.

PART | - GRAMMAR

1. Why you to him?

A. did..lied C. did..lay

B. did..lie D. did..lain

2. 1 my breakfast.

A. already eat C. have already eaten

B. am eating already D. have eaten already

3. | a motorbike, but | sold it.

A. usedtoown C. usedto owning

B. would own D. amused to owning

4. My twin sister at Medical School for five years by the end of this
year.

A.  will study C. isstudying

B.  will have been studying D. s going to study

5. Jeremy enjoys more than he enjoys time with
his friends.

A. to work out...to spend C. working out...spending

B. work out...spend D. working out...to spend




6. Thereis no food in the fridge. The children ____ all yesterday.
A.  musteatit C. should have eaten

B. should eat it D. must have eaten it

7. 1 my leg so | can’t play in the basketball finals tomorrow.
A.  have been breaking C. break

B. am breaking D. have broken

8. Michael and Julia introduced to

A. them..all C. oneself..each

B. themselves...everyone D. each..all

9. We go to the bank today; the bills have been paid automatically.
A. shouldn’t C. mustn’t

B. needn’t D. can’t

10. | a new car, if | more money.

A.  would buy...had C. am buying...am having

B.  will buy...have had D.  will buy...will have

11. my tea was too cold, | heated it up in the microwave.

A.  After C. Before

B. Until D. Because




12. you were visiting Athens last month, |

A. If I knew...would have called C. Unless...will call

B. If I had known...would have called D. | had known...should call

13. You at school from now on if you don’t want to get into trouble.
A. would rather behave C. would behave

B.  better behave D. had better behave

14. It was so cold at the party yesterday. | wish |

a warmer coat.

A.  had worn C. will wear

B. would wear D. wore

15. Father stay home and watch television to the
cinema.

A. would rather ...than go C. would prefer...than go

B. had better ...than going D. had rather ...than going

16. If she the school bus, she to walk.

A. missed...needs C. misses...has

B.  had missed...has D. is missing...will have




17. Tom asked me the new Star Wars film at the cinema the week
before.

A. didlsee. C. if I have seen.
B. iflsaw. D. if I had seen.
18. | wish | more time to spend with you!

A. have C. amhaving

B. have had D. had

19. | had to get to the airport early miss my flight.
A. soasto C. sothatldon’t
B. soasnotto D. sothatl

20. The driver said that he drive any faster at that moment.
A. isnotableto C. won't

B. couldn’t D. «can’t

PART Il - VOCABULARY

21. The photographer took shots of a huge of pink flamingos flying
above the lake for the National Geographic magazine.

A. swarm C. herd

B.  school D. flock




22. Covid-19 has forced people around the globe to their movements
and social habits.

A.  obstruct C. confide

B. restrict D. express

23. Upon hearing the tragic news, we were all . We were in shock!

A. ataloss for words C. out of curiosity

B. onthe edge of our seat D. ata miss for words

24. Helen when she was accepted to the University of her choice.
She had been very anxious while waiting for the news.

A.  took off C. turnedup

B. broke out D. cheered up

25. Adam thinks he is right about everything and will not consider anyone else’s
ideas. He is very in that respect.

A. stubborn C. modest

B. biased D. envious

26. The new film that was supposed to be a , ended up being a
massive instead; the critics hated it.

A. blockbuster...flop C. masterpiece...defeat

B. bestseller...flaw D. headline...target




27. Mark Zuckerberg was one of the of Facebook in 2004.

A.  publishers C. founders

B.  suppliers D. inheritors

28. People who try to climb Mt. Everest have to deal with weather
conditions.

A. persistent C. demanding

B. rundown D. severe

29. Eating healthily and keeping fit will you to get through life
without becoming ill.

A. able C. enable

B. fulfil D. promote

30. The police thankfully caught the who set fire to the forest.

A. vandal C. witness

B. arsonist D. forger

31. After the announced their of ‘Not Guilty,” the
judge freed the accused man.

A. accused...reply C. jury..verdict

B. audience...sentence D. defence...alibi




32. Unemployment rates are very high now, and unfortunately, there are very few

job

A. vacancies C. poses

B. pensions D. salaries

33. people are leaving their homelands to make a new life for
themselves in other countries.

A. Nameless C. Potential

B. Abundant D. Countless

34. My brother has a

for traveling; he has been around the world

twice!
A.  flavor C. crush
B. passion D. favor
35. We all inherit some of our character from our parents.
A.  contributions C. traits
B. parts D. genetics

36. The ancient Greek philosophers said that we should avoid extremes, and try to

do everything

A.

in good shape

C.

last, but not least

B.

well-balanced

D.

in moderation




37. If someone wants to lose weight safely, it is best to consult a(n)

A. nutrient

C. analyst

B. dietician

D. optician

38. Sara waited and waited at the restaurant, but her friend did not

A.  showup C. workout
B. speedup D. getthrough
39. in technology over the past twenty years means that most

people have a mobile phone now.

A. Introductions

C. Developments

B. Fascinations

D. Observations

40. Mary sent me an email to

that she would be attending my

wedding.

A.  comment

C. conform

B. confirm

D. consider




PART IlIl - WRITING

Over the past year and a half, there has been a lot of talk about the advantages and
disadvantages of online learning. Think about your personal experience of online
learning during this year’s extensive lockdown. What did you like the most? What did
you find difficult and what would you like to keep using at school next year?

Write your opinion in an article for the school magazine.

Your article should be 150-180 words long. It should have a title, a clear introduction,
a development of your main ideas, and a suitable conclusion.
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NEA EAAHNIKA

MEPO:Z |I. EPQTHZEIZ NOAANANAHZ ENIAOIHZ

MapakadoUue, KUKAWOTE TN povadikn owoTh aravinon oti¢ Epwtnosls 1-10.

1) Bpeite ™ A£€n mou dev elval ouvOeTn:

. napélaon

B. HUECALWVLIKOG
V. untplapxio
6 e\enpoouvn

2) Bpeite to Aabog:

a. o ¢pTwxoG anod npwv

B. Taldel TNV Mo KoAn pmaAa

Y. onUelwaoe Tov TILO YPryopo XpOvo
6. TILO TOAUNPOTEPOG QMO TIOTE

3) Tou €bei€a Tov oWOTO SpoO.
apBpo

B SELKTIKA avTwvupia

2 KTNTIKA avTwvu pia

6 TIPOCWTILKA aVTWVU i

R

4) e (Y TNV aitnon oag otnV UMNPEcia pag apeoa.
a eldomnouote — utoBAAAETE
B. elbonoleiote — utoPBdaAAete
Y eldonolnote — utoBAAETE
6 elbomnoleiote — umoBaAete

1) I Va 00U TIW OTL NTaV UTLEPBOALKA QUCTNPEN N TIOLVH TIOU TOU ............. .
a EntitpeP€ pou — emifarAec
B. Enétpe€ pou — eméPBaAeg
Y Enitpe€ pou — eméPBareg
6 Enétped€ pou — emifoaleg

6) To mpwTto cUVOETIKS elval To apLOUNTIKO «8V0» EKTOC Ao pia AE€n:

a. SuoAetia
B. Suapyia

V. Sikomog

6. Slo€yyovog
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7) To OotL ApBeg ATV MOAU GNUAVTLKO yla OAOUC.

Q. UTTOKELEVO

B KOTNYOPOUEVO

V. EUMPOBETOC TPOOSLOPLOUOG
6 Sdeutepelovoa pdtaon

8) O daokahog e€nynoe otoug uadnteg TNV Aoknon.

a. QLECO OVTIKELUEVO
B. EUECO OVTLKEEVO
Y. UTIOKE(EVO

6. KQTNYOPOULLEVO

9) To mAoio Oa Kivbuvel oL Ao TNV TPLKULLLQL.
a. EUMPOOETOC TOU TTOLNTLKOU aLTiou
B EUMPOBETOG TNG attiag
Y. SelTePOC OPOC CUYKPLONG
6 EUNMPOOeTOC TOU OKOTOU

10) Zag divovtal pePOVWUEVEG TTPOTACELS. Na TI¢ BAAETE OTN OWOTH OELPA, WOTE va
oxnuoatilouv pia kavovikn mapaypado:

A. Me dAAa Adyla, avamtiooel €va alobnua KowwvIKOTNTAG Kal EVIACOETOL
ota Kowwvika mAaiota, e€acdalifovrag pia BEon, pla avayvwplon.

B. Emopévwg, péoa amd tnv gpyacia tou, o avBpwrmog PoodeVEeL TOCO WG
ATOMO 000 KoL WG GUVOAO.

I. Nati xwpic avtn tn cuvepyaoia, av SnAadn npoomnabouoe o kabévag Hovog
Tou va kepdioel ta pog to Inv, bev Ba Atav duvatov va emBLwoeL TAvw otn yn.

A. O avBpwmog, yia va AVoeL To POoBAnua t¢ emiPBiwong Tou, Epabe oxL povo
va epyaletal aAd Kol vo ouvepyaletal pe Ttoug @GAAoug, Stapopdwvovtag Eva
oUOTNUA KOTOVOWNC TNG Epyaciac.

E. Me tnv gpyacia tou, Aoutov, o avBpwmoc pabaivel va ouveloPEPEL OTOUG
ouvavBpwmoug Tou, va eviladEpetal yU' autoUg Kal va avantuoosl GLALkoug SEGUoUC.

H owotn oslpa sivat:
a.

J>J>J>l>
wwwm

E-A-T-
A-E-T-
A-T—-E-
E-T-A-

B.
V.
5.

Mépoc I: povadeg 30
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MEPO?2 Il. KEIMENO KAI EPQTHZEI2

OL ro Suvartég kat aAnBwvég dLAieg yevviouvtal otnv matdikn kat epnpiki nAkio. Ita
Xpovia TnG abwotntag, popalopacte To €UKOAA cuvaloBnuata, okEPEeL Kal
Buwpata, evw €xoupe ddBovo xpovo va adlepwooupe o0 €vag otov aAlo, oTolxeio
anmapaitnto yw tn OSnuioupyia pag Pabag ¢iag. MaAlota, pmopoUUE va
Bewpriooue TUXEPOUG TOUC QVOPWIIOUC TIOU MEYOAWVOUV, E€VNALKLWVOVTOL KO
YEPVOUV, KPATWVTOC TAVTA EMAdN HE TOUS TtaLdLkou Toug ¢piloug.

QuuApaLl TTIOAU KaAQ TNV TapEa EKEIVWY TWV Xpovwy. OAa Ta HEAN TNG MEVOUE OTNV
8l yettovid: kamotlot otnyv dla moAukatolkia, ol umtoAoutol ota yUpw oritia. NMoAAEG
$OpEC N ouvevwonon ywotav HE VONUOTA Omo Ta UmaAkovia. To KaBnuepwvo
npOypappa Atav otabepd: LeTad to oxoAsio, To StaBaopa Kot TG E€veg YAWOOEG, N
napéa palevotav o €va OTITL [ O€ KATIO0 KATO 1 anmAd oto dpodpo. Kat to matyvidt
ouvexotav xwpic Stakomn n AAAeC oKEPELG, LEXPL TN OTLYUN TIOU OL QlyOVOKTLOUEVEC
KOLL TLAVTAL OVOUXEG MO deC apxlav va pag avalntouv.

KaBw¢ peyalwvoupe, OAa autd ivat moAu Suokolo va dtatnpnBouv. H {wr 6Awv pag
oAAGLEL KOl oL CUVONKEG TNG KaBNnUepLVOTNTOG SEV EUVOOUV TNV eadr) Le Toug dilouc:
0 XPOVOC AlyooTeVEL, Ol UTIOXPEWOELG aufavovtal, KaBEvag dnULoupyEeL TNV OLKOYEVELL
TOU, 0 KUKAOG TwV yvwpLuLlwy Steupuvetal. Me Suo Aoyla, oL taAtot ¢pilot dev eival ma
og B€on va potpalovtol TNV KaBnuepvotnta touc. H wr) Tou KaBevog €xel MAPEL Evav
SlopopeTiko Spopo.

Kat opwg, av n ouykupia BonBroel yla pio £€0Tw Kol TPOOWPLVH EMAVEVWON TNG
mapag, He Kamowa adopprn euxaplotn [ akopo kot ducdapeotn, cupPaivel katt
oANBWA HaYLKO: yla KATIOLEG OTLYUEG, OAQL ElvVaL OTIWG TTOALG, OOV Vo NV PecoAapnos
0 XPOVOG, oav va HolpalOUaoTE AmAWG Ta VEQ HaG, OMwc Ba KAVAUE av iYape va
BpeBoupe Alyeg povo pépes. OL oulntioelg ouveyxilovtalL amod ekel mou eiyav
OTAUATACEL, Ta ouvaloBnuata ekdnAwvovtal Kol oL okEPELS Slatumwvovtal YE TV
dla dveon, cav va nuaoctav akopa madid. Mpdypatt, ol madikés ¢ulieg pag
npoodEpouv auto to dwpo: pag BonBouv va KpatAooUUe pEoa pag To modl mou
AUOOTAV KATIOTE.

Epwtosilc pe Baon to Keipevo

Mapakadovue, KUKAWOTE T povadiky ocwotn anavinon oti¢ epwthoels 1-10.

1) 20udwva pe To Kelpevo, o pia dhia mpémet:

a. va €XOUUE TNV 6La nAwia

B. va KaAALlepyoU e Kowva evéladépovta
2 va apLEPWVOULE XPOVO

6. va LEVOUE oTnV 8La yettovid
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2) Zupdwva pe To Kelpevo, ol aldikol dpidol xavovtal eneldn kabwg peyaAwvouv:

. aAAGlouv w¢ avBpwrot

B. XAVOoUuV To evSLaPEPOV TOUG yLa TTapEQ

V. N KaBnuepvoTNTA TOUG eV elval TiLa Kowvn
6. amokTtoUV AAAOUG GIAOUG TILO CNUAVTLIKOUG

3) ZUpdwva e To KELEVO, OV N TTAPE TWV TTOLSIKWV Xpovwyv EavaPpebet:

a. n emwowvwvio 8ev elvat eUKOAN

B. Ta PEAN TN Sev €xouv aAAdgeL kaBoAou

V. OAoL cuumeplpEpovTal oav va Un LEcoAABnaoe xpovog
6. OAoL KAvouv oav TaldLa

4) To kadnuepPLVo mpoypauua Atav otadepo: UETA TO oxoAgio, To diaBaoua kat Ti¢
E€vec yAwooeg, n napéa ualevdtav o€ €va OTiTL 1) OE KATTOLO Ko 1 antAd oto pouo:
O€ aUTH TNV epiodo £xoupe:
a. neplypadn
B. adnynon
Y. Sdlaloyo
6. HovoAoyo

5) MaAiwota, umopouue vo SewprooUUE TUXEPOUC TOUG avIPWITOUC TTOU UEYXAWVOUY,
EVNALKLWVOVTOL KoL YEPVOUV, KPATWVTC TAVTA MNP UE TOUG TALSIKOUC TOUG PIAoUG:
O€ TIOLO XPOVO KalL OE TIOLaL EYKALON €LVOLL TO UTIOYPAUULOUEVO PALA;

a. UTTOTOKTLKA — EVECTWTOG

B UTTOTOKKTLKA — aOPLOTOC

2 OPLOTIKI — oTLyHLaiog LEAAOVTOG

6 OPLOTIKI — EVECTWTOG

6) 2ta xpovia tn¢ adwotntac, UolpalOUAOTE TTI0 EUKOAQ ouvaloUnuaTa, OKEWEIC Kol
Bwwparta: os mola pwvn kat o€ ola S1ABean €lvol TO UTIOYPAUULOUEVO PrUaL;

a. EVEPYNTLKN — EVEPYNTLKN

B. nadntikn — madntikn

V. TadnTIK — EVEPYNTIKN

6 EVEPYNTLIKN — TaBNTKA

7) Mpayuatt, ot maUSIKES PIAIEC UAC TTPOOPEPOUV AUTO TO SWPO: TL EVAL CUVTAKTLKA N
UTTOYPOULOUEVN AEEN;

. UTTOKE(LLEVO

B KOTNYOPOUEVO

V. OQLECO OVTLKELUEVO
6 €UHLECO OVTIKELUEVO
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8) OAa ta uéAn tnc uévaue otnv (dla yeitovid: TL EIVOL YPOUUOTIKA N UTTOYPOUULOUEVN
\eén;

KTNTLKN aVIWVURia

TIPOCWTILKA OVTWVU L

SELKTIKA avTwvupia

apbpo

o< ™ g

9) MoAAEc QopPEC n cuVeEVVONON YLVOTAV UE VONUATA OTTO TA UITaAKOvIa: TL SNAWVEL TO

UTIOYP O ULOUEVO;
a. OKOTIO
B attia
Y. anotéAeopa
6 TpoOMOo

10) Me buo Adyia, ot maAwoi @idot bev eivar mia oe Jéon va powpalovral tnv
KaINUEPLVOTNTA TOUG: TtoLaL (vt N AELTOUPYLA TNG UTIOYPAUULOUEVNG dpaoNG;

a. OUUTIEPALVEL
B. ouvoyilel
Y. attioloyet

6 enefnyel

Mépoc ll: povadeg 30
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MEPO?: Ill. NTAPATQIrH AOroy

O ¢didog mou BEAW SimAa pou. (100-150 AékeLg)

| Mépoc lll: povadec 40
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MAOHMATIKA
OEMA 1°

ZTLC MOPAKATW EPWTNOELG, KUKAWOTE TN HOVASIKA CwaoTr andvinon.

i) Mo kaBe mpayuatiko aplBuo x LoxvEL:

aVvxZ=x B.VxZ = —x v. Va2 = |x] 8.
Vx? = x2

ii) Eotw o mpaypatikog apOuog. Av n e€iowon ax = 5 sival advvatn, tote n e€lowon
2x = a,

a. eival aduvatn  B. eival tauvtotnta  y. ExeL Avon tnv x = 0 8. £xeL Abon v
x=1

iii) Av ta mood x kat y ivat avaAoya, Tote undapxel @ #* 0 woTte,

a.y = ax B"L::E v.y:arx—kﬁ
x
§.V=2x+a

iv) Av @, @ ofeileg ywvieg pe @ > w TOTE:

oL e < qpw B. nie = nNuw V. TH@ = npw S. g - uw =1

v) Av og éva tpiywvo ABT pe mAeupéc a, B, v toxUet otu 7 =y~ — a?, tdte:

a. A =90° B. B = 90° y.[ =90° 6. timote amd
T(pONyoUuEeva

MONAAEZ 25
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OEMA 2°

ZTLC MOPAKATW EPWTNOELG, KUKAWOTE TN HOVASIKA CwaoTr andvinon.

Do ) 23-4 (,1 " 1) 3(x—-A)-7  Tx ) A
i) Av n elowon c > = ) €XeL Avon Tov
aplbuo X = 2,
TOTE TO A €lval (oo pe:
a2 B.3 y. 4 5.5
MONAAEZ 10
ii) Avn efiowon (a+ 5)x =78 —7 elval tautotnTa, TOTE:
aa=—5&p[=—-1 PBa=-5&F=0 V. a=-5&f[=1
s.a=5&pB=1
MONAAEZ 8

iii) H e€lowon (@ — 3)x = 5 yia k&Be mpaypatkd aptBud &,

a. £xeL povadikn Abon  B. elvatl adlvatn  y. elvat tavtotnta 8. €XEL TO TIOAU Lo
Abon

MONAAEZ 7
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OEMA 3°

210 mapakatw tpanéllo (AB//TA) eivar AB = 6\/§ cm, AE = 8\/§ cm, BI' = 8cm,
ABT =150° kot BEA =90°.

A) Na deitete otL T0o U 0oC BE Tou Tpameliov sivat 4cm kat ot A" = 1243 cm.

MONAAEZ 8
B) Na unoAoyicete to eufadov tou tplywvou ABT kat to epBadov tou tpameliou ABrA.

MONAAEZ 8

N Noa urmtoAoyioete to euPadov tou Tplywvou ABA.

MONAAEZ 9

A 6\/_;cm

B
@’ 8cm

A : r
8\/§cm
R T
ouvnpirovo 32:1 l,} %
EQamropévn 533— 1 V3
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OEMA 4°

Atvetaw n eflowon (2a — 6)x +5 = 10,

A) Na Bpebel n T tou a ywa tnv omoia n A0, a)s
napanavw eflowon eivat advvarn.
MONAAEZ 8

B) Aivovtat ta onueio A(0,a) ko B(2a — 2,0),
Omou @ n TR Tou PpAKATE OTO TPONyoUEVO
epwtnua. Na UTIOAOYIOETE TO MAKOG TNG TAEUPAG

-

AB. 0 B(2a —2.0)

MONAAE:z 9

N Na Bpeite o UYPog Tou Tplywvou ACD B mou avtiotolyel otnv mAevpa AE.
MONAAEZ 8
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